INSTALLATION MANUAL

AR 1
T ‘IH_,'[

9 _____——e0 |
T,

L-501-C-2



Al A2 A3 A3 A4
EH _F? 3 4 Z Hot water Control hand shower
AT T
ASQ,, A6 7 A8 (; A9 (g— | /_T) Control top shower
—H’ 0z @y N~
(®
A10 / All @ A12 jﬂ A13 @ Al4 @ Cold woter Control foot massager
Switch Control sharp massager
ATI5 ﬁ A17 A18 A19 A20
'g : % M4x10 5
A2l A22 A23 A24 Using instruction for shower room
% g ) 1.0pen the switch, it can a djust the hot and cold water by turning into right
M4x14 M4x12 M4x14 and left,it is fine when you feel the temperature is ok.

2.Turning the adjuster ,it can control water running from the hand shower,

foot massager,sharp massager and top shower.

3.The hydraulic pressure is 0.4 Mpa in every part.

4.Please turn off the power and switch of the shower room after you used it.
5.Please swab the shower room with soft cloth,it will keep new.

The front and back of shower roem are high - quality tampered glass,please

don't impact it
©N ~—=

3mm Diometer Drill Bit
QAANMINNNNY )

(== =17 — == |




\\\\\\

Al2



V) ‘B v m% B _ Y]

2
I

3
%

A21

M4x% M4x12

A23

2
;
L

M4x14

Al19




	页面 1
	页面 2
	页面 3
	页面 4

